## **BID SUMMARY**





This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Pedestrian Crossing Improvements 2017-2018

PROJECT NO.: 2018.5610 BID NO.: 19-20.006

BID NO.: 19-20.006							
BID OPENING	ENGINEER'S ES	STIMATE	Gruendl Inc.DE	BA Ray's Electric	Bay Constructio	on Co.	
DATE: November 14, 2019	Date Approved:		411 Pendleton Way, Suite B		4026 Martin Luther King Jr. Way		
<b>TIME:</b> 3:00 p.m.	Prepared by: N. Ca	Prepared by: N. Castelino		Oakland, CA 94621		Oakland, CA 94609	
LOCATION: City Clerk's Office	*		Phone: (510) 577-7700		Phone: (510) 658-7225		
				Fax: (510) 577-7706		-4890	
ITEM				* 000000000000000000000000000000000000		070 M 1070 M 107	

					Fax: (510) 577-7706		Fax: (510) 658-4890	
ITEM							2	
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
1	Mobilization	1 LS	\$13,200.00	\$13,200.00	\$60,000.00	\$60,000.00	\$20,000.00	\$20,000.00
2	Traffic Control	1 LS	\$25,000.00	\$25,000.00	\$40,000.00	\$40,000.00	\$13,950.00	\$13,950.00
3	Furnish and install W11-2 (36x36)	4 EA	\$500.00	\$2,000.00	\$370.00	\$1,480.00	\$460.00	\$1,840.00
4	Furnish and install W16-7p/W16- 9p (24x12)	10 EA	\$300.00	\$3,000.00	\$340.00	\$3,400.00	\$457.00	\$4,570.00
5	Furnish and install R1-5 (36x36) and Post	2 EA	\$800.00	\$1,600.00	\$570.00	\$1,140.00	\$768.00	\$1,536.00
6	Furnish and Install Type 1-B Pole and Foundation, Solar RRFB System and Pedestrian Push Button	4 EA	\$13,000.00	\$52,000.00	\$20,000.00	\$80,000.00	\$36,425.00	\$145,700.00
7	Tree Removal	3 EA	\$7,500.00	\$22,500.00	\$3,000.00	\$9,000.00	\$3,875.00	\$11,625.00
8	Duracurb and Delineators	1 LS	\$6,000.00	\$6,000.00	\$22,000.00	\$22,000.00	\$19,000.00	\$19,000.00
9	Furnish and Install Thermoplastic Yield Line	90 SF	\$5.00	\$450.00	\$11.50	\$1,035.00	\$15.00	\$1,350.00
10	Relocate Existing Sign and Post	2 EA	\$700.00	\$1,400.00	\$460.00	\$920.00	\$613.00	\$1,226.00
11	Reinstall Existing Sign and Post	2 EA	\$600.00	\$1,200.00	\$460.00	\$920.00	\$612.00	\$1,224.00
12	Furnish and Install Caltrans Left Turn Arrow (Type III = 24')	1 EA	\$100.00	\$100.00	\$490.00	\$490.00	\$651.00	\$651.00
13	Furnish and Install Caltrans Bike Lane Arrow and Symbol	1 EA	\$150.00	\$150.00	\$160.00	\$160.00	\$217.00	\$217.00
14	Furnish and Install Thermoplastic Crosswalk striping	204 LF	\$4.00	\$816.00	\$23.00	\$4,692.00	\$40.00	\$8,160.00
15	Refresh and Extend Red Curb Painting	100 LF	\$2.00	\$200.00	\$6.00	\$600.00	\$16.00	\$1,600.00
16	Grind off Existing Striping and Fog Seal	88 LF	\$5.50	\$484.00	\$9.00	\$792.00	\$13.00	\$1,144.00







This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Pedestrian Crossing Improvements 2017-2018

PROJECT NO.: 2018.5610 BID NO.: 19-20.006

BID OPENING		ENGINEER'S ESTIMATE		Gruendl Inc.DB	BA Ray's Electric	Bay Construction Co.		
	DATE: November 14, 2019		Date Approved:		411 Pendleton Way, Suite B		4026 Martin Luther King Jr. Way	
1	TIME: 3:00 p.m.		Prepared by: N. Castelino		Oakland, CA 94621		Oakland, CA 94	4609
	LOCATION: City Clerk's Office				Phone: (510) 577-7700		Phone: (510) 658-7225	
					Fax: (510) 577-7706		Fax: (510) 658-4890	
ITEM				ia 10				
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
17	Grind off Existing Pavement Marking and Fog Seal	2 EA	\$150.00	\$300.00	\$260.00	\$520.00	\$388.00	\$776.00
18	Sidewalk per Std. Plan 100	945 SF	\$20.00	\$18,900.00	\$47.00	\$44,415.00	\$60.00	\$56,700.00
19	Curb & Gutter per Std. Plan 100	131 LF	\$90.00	\$11,790.00	\$175.00	\$22,925.00	\$100.00	\$13,100.00
20	Wheelchair Curb Cut Ramp per Std. Plan 106A-106D	328 SF	\$36.00	\$11,808.00	\$80.00	\$26,240.00	\$59.00	\$19,352.00
21	Storm Water Curb Inlet at Haas Ave. per Std. Plan 204	1 EA	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$9,300.00	\$9,300.00
22	10" PVC Storm Drain Pipe and connection to SD main	1 LS	\$12,300.00	\$12,300.00	\$18,000.00	\$18,000.00	\$27,900.00	\$27,900.00
23	Furnish and install S1-1 (36x36)	6 EA	\$500.00	\$3,000.00	\$360.00	\$2,160.00	\$490.00	\$2,940.00
24	Furnish and install New Post per Std. Plan 136	1 EA	\$300.00	\$300.00	\$500.00	\$500.00	\$675.00	\$675.00
25	Furnish and install R1-5 (36x36) on Existing Post	2 EA	\$500.00	\$1,000.00	\$360.00	\$720.00	\$450.00	\$900.00
26	Remove and Salvage Existing Signs	4 EA	\$250.00	\$1,000.00	\$100.00	\$400.00	\$110.00	\$440.00
27	Remove and Salvage Existing Type 1-B Pole and Foundation, Push Button, Solar Assembly, and Enclosure	1 LS	\$2,500.00	\$2,500.00	\$7,000.00	\$7,000.00	\$7,905.00	\$7,905.00
28	Remove In-Pavement Warning Lights and AC Restoration	1 LS	\$8,000.00	\$8,000.00	\$11,000.00	\$11,000.00	\$20,000.00	\$20,000.00
29	Remove and Salvage Existing Pedestrian Push Button, Post and Foundation	1 EA	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$6,200.00	\$6,200.00







This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Pedestrian Crossing Improvements 2017-2018

PROJECT NO.: 2018.5610 BID NO.: 19-20.006

BID O	PENING		ENGINEER'S E	STIMATE	Gruendl Inc.DB	A Ray's Electric	Bay Construction	Co.	
DATE: November 14, 2019		Date Approved:		411 Pendleton Way, Suite B		4026 Martin Luther King Jr. Way			
	TIME: 3:00 p.m.		Prepared by: N. Castelino		Oakland, CA 94621		Oakland, CA 94609		
LOCATION: City Clerk's Office				Phone: (510) 57	77-7700	Phone: (510) 65	8-7225		
					Fax: (510) 577-7706		Fax: (510) 658-4890		
ITEM									
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	
30	Remove and Replace Existing Drainage Inlet with City Standard 3101 Dwg 204.	3 EA	\$10,000.00	\$30,000.00	\$12,000.00	\$36,000.00	\$15,000.00	\$45,000.00	
31	Drainage Inlet Repairs per sheet 8 Detail 1 and 3 of the plan set	2 EA	\$5,000.00	\$10,000.00	\$4,000.00	\$8,000.00	\$8,525.00	\$17,050.00	
32	Furnish and Install Bollards per Sheet 8 detail 4	2 EA	\$1,000.00	\$2,000.00	\$2,500.00	\$5,000.00	\$1,860.00	\$3,720.00	
33	Furnish and Install Speed Feedback Signs and Poles per Plan Sheet 7	4 EA	\$8,000.00	\$32,000.00	\$14,250.00	\$57,000.00	\$1,085.00	\$4,340.00	
34	Remove and Replace Vertical Curb per Case 3101 Detail 118	8 LF	\$80.00	\$640.00	\$375.00	\$3,000.00	\$930.00	\$7,440.00	
35	Remove and Replace Pavers to Match Existing	30 SF	\$50.00	\$1,500.00	\$150.00	\$4,500.00	\$155.00	\$4,650.00	
36	Shoring and Bracing	1 LS	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$7,750.00	\$7,750.00	
37	Sol XSP1 High Output LED Street/Area LuminaireWith Mounting	2 EA	\$1,500.00	\$3,000.00	\$2,000.00	\$4,000.00	\$2,800.00	\$5,600.00	
		TOTAL BASE BID:		\$296,138.00		\$494,009.00		\$495,531.00	
REQUIRED DOCUMENTATION:		Bid Bond		YES NO NO SUBMITTED		YES			
		San Leandro Local Business 25 % Participation Good Faith Effort				NC	)		
						YES N/A			
								Agreement to be Bound	
				Addendum #1		YES		YES	







This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Pedestrian Crossing Improvements 2017-2018

PROJECT NO.: 2018.5610 BID NO.: 19-20.006

BID OPENING		ENGINEER'S ESTIMATE		Gruendl Inc.DBA Ray's Electric		Bay Construction Co.		
	DATE: November 14, 2019		Date Approved:		411 Pendleton Way, Suite B		4026 Martin Luther King Jr. Way	
	<b>TIME:</b> 3:00 p.m.		Prepared by: N. Castelino		Oakland, CA 94621		Oakland, CA 94609	
	LOCATION: City Clerk's Office		- , , ,		Phone: (510) 577-7700		Phone: (510) 658-7225	
				Fax: (510) 577-	-7706	Fax: (510) 658-4890		
ITEM								N
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
	SUBCONTRACTORS:				Chrisp Compa Accurate Land Penhall Compa	Solutions	Columbia Elec Penhall Compa Striping Graph	any
0 0		SECURITIES:			10% Bid Bond		10% Bid Bond	,
		NOTES:		- A			,	

Reviewed by:

Reviewed by:

Nicole Zastelino, Project Manager

Austine Osakwe, Senior Engineer